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HEARBER VS TEEEDBHM
(Bfz: )
X5 BEEDIELE B IRSEMAS | LHAEMEE | LA | BIRIREME
HARBE EHES 45,904,701 137,496 46,042,197
EfE. 5FERE 159,995,299 137,496 159,857,803
BN 205,900,000 137,496 137,496 205,900,000
BEEE  EBREEM5IHTES 990,000 170,000 1,160,000
HEEEASLTES 3,000,000 1,000,000 4,000,000
KRB S| LTER 8,000,000 5,000,000 8,000,000 5,000,000
KIFHEH#D| LTES 55,000,000 25,000,000 55,000,000 25,000,000
YEEES 66,990,000 31,170,000 63,000,000 35,160,000
HIEEAOL::: ‘
(Bhz:A)
. LHERE &8
: H = L HAtEn%E — f =
B B %S L HAE DA SmER | 2o AR
E55 4% 1,800,000 1,800,000( 1,800,000 0 1,800,000
BRI FTEI NS 990,000 170,000 0 0 1,160,000




